
&roof by Induction
- Proof technique
-

Prove something of this form

YneN
, P(n)

- Typically , N = 50, 1, 2, 3, ... 3
Examples :
u

·
Prove thati for all ne

UneN , p(n) where P(n):
2

· Rove that every positive integer can be written as

n= m2* where m is odd ,
keI

first n odds

· Prove that +5 + ... + Rnl) = n2 for all ny1



Ato prove by induction

To Prove P(r) is true for all nx no (typically no= 0)

- &Basecase : Prove P(ro) is true [verification)

-Educivestep : Prove -Kno , P(K)= P(k+)

(Assume P(K) is true
I use
that to prove

P(K+1) is true

this establishes : Vn)
,
no
, P(n) is true









complet: Prove thatIn starts with 01 for all m, /

Basecase : No=1 · T = 0 I do it starts with 01

InductiveStep : V (),1 , P(E) => P(k+1)

P(K) : Thstarts with 01 (Inductive hyp
↑ (KH) : Th+ starts with of

Tk+= TcTo and therefore Tisty starts with of since

Th starts with 01 . Done-






